(Time; 2% Hours)

N.B :1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. (A) Attemptany two of the following:- :
(2) Complete the following reaction, name'it arid expla

NqDGJ"(r
ch, (cooC,H 3 -+ u{z’“ tH— f-ci iy

3 ,.\\-

ctions:”

(b) Predict the product and name the following reac

. 0 5 .
& 1" [} T Hel
- T o it g — 2
?i) CH,— CH_—Coot¥ NaOEt.
CHL——CH Cooft =

“ nd explam its’ ‘mechanism: 4
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(b) Complete the following reactions and name them:

plares o w9

(d) Give the mechanism for the follo m
@) 4,5 - dinitrobenzoic. aciii o 4
(i)  « - haloketone o, ester :

(B)
4
4

3. (A)
’

anj;ohg Qf the followmg

WCI' &Y

/\“

%ﬁ A‘JS

J
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(b) Answer the followmg e B
(1)  What happens to the IR absorptmn pe
CClyis added to ethanol? e
(i)  Which of the two molecules - butadiene or

4. (A) Answerany two of the following:
(a) Write a note on:

(i) Chemical and magnetlc
(i)  Vicinal coupling
, (b) Give the fragmentation patterns of:
< . : () Salicylicacid
(ii)  t-Butyl alcoho
~(c) Answer the followin

S ;K_..

following: lR and St
IR(neat) v max“‘2950‘ 2850 19

HNMR 6ppm 120 (O 8) -
©3.70 (3H; S
Ass1gn the structure to the. compound

B) Answer any ‘one-of the following:
(a) An organic compound molecular formula

spectral data: - : i '
IR 1745 cm"(s), 1225 cm"(br s) 749(3) 679 cm1 (s)

. NMR; s 1.96 (3H, s); SOO(ZH s) ~1.22 (5H, m)
Deduce the structure: of the compoun : _ .

(> ‘ (b) Answer 1 thc followmg
‘ - ()" How will you d1st1ngulsh,bctwecn cis and trans alkene?

(11) How many different types of protons are present in
-mcthyl propene"

<3, :.Attempt any tour of the followmg 120

(A) Explam, gwmg xeasons whlch enolate is formed when 2-heptanone is treated

i
e te ions with suitable examples.

3 ® .Exp‘lam the stablht‘y of enola
; epresent the following rearrangements:

s ()  Give cqmpletc equations to T
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Tele substitution
Nucleophilici
Isotop
Molecular

(@)
(i)

(i)
Discuss the effect of ste

Explain the following ;

Expla
(®)

®
)
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